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STRAIGHT LINES

1. Draw a quadrilateral in the Cartesian plane, whose vertices are

(—4,5),(0,7), (5, —5) and ( — 4, — 2).Also, find its area.

° Watch Video Solution

2. The base of an equilateral triangle with side 2a lies along the Y-axis

such that the mid-point of the base is at the origin. Find vertices of the
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triangle.

° Watch Video Solution

3. Find the distance between P(zy,y;) and Q(z,y2) when (i) PQ is

parallel to the Y-axis (ii) PQ is parallel to the X- axis.

° Watch Video Solution

4. Find a point on the X-axis, which is equidistant from the points

(7,6) and (— 3, 4).

° Watch Video Solution

5.Find the slope of a line, which passes through the origin, and the mid-

point of the line segment joining the points P(0, — 4) and B(8, 0).

° Watch Video Solution
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6. Without using the Pythagoras theorem, show that the points

(4,4),(3,5) and ( — 1, — 1) are the vertices of a right angled triangle.

° Watch Video Solution

7.Find the slope of the line, which makes an angle of 30° with the positive

direction of Y -axis measured anticlockwise.

° Watch Video Solution

8.Find the value of x for which the points (z, —

collinear.

1),(2,1) and (4, 5) are

° Watch Video Solution

9. Without using distance formula,

(-2, —1),(4,0),(3,3) and ( —3,2) are

show that points

the vertices of a
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parallelogram.

° Watch Video Solution

10. Find the angle between the X-axis and the line joining the points

(3, — 1) and (4, — 2).

° Watch Video Solution

11. The slope of a line is double of the slope of another line. If tangent of

1
the angle between them is 3 find the slopes of the lines.

° Watch Video Solution

12. A line passes thorough (z1,y;) and (h, k). If slope of the line is m,

show that, k — y; = m(h — ;).

° Watch Video Solution
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13. If three points (h,0), (a,b) and (0, k) lie on a line, show that

a
—+ - =1
h+k

° Watch Video Solution

14. Consider the following population and year graph, find the slope of

the line AB and using it, find what will be the population in the year 20107

£ :f‘ (1985, 52)
¥

}"{_ - - - - — w > —F X
0 1965 1990 1995 2000 2005 2010
ﬁ'
v

° Watch Video Solution
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1. Obtain Equation of line which satisfy given condition :

Write the equations for the X- and Y- axes.

° Watch Video Solution

2. Obtain Equation of line which satisfy given condition :

1
Passing through the point ( — 4, 3) with slope 3"

° Watch Video Solution

3. Obtain Equation of line which satisfy given condition :

Passing through (0, 0) with slope m.

° Watch Video Solution

4. Obtain Equation of line which satisfy given condition :

Passing through (2, 2\/§) and inclined with the X-axis at an angle of 75°.

| e
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5. Obtain Equation of line which satisfy given condition :

Intersecting the X -axis at a distance of 3 units to the left of origin with

slope —2.

° Watch Video Solution

6. Obtain Equation of line which satisfy given condition :
Intersecting the Y -axis at a distance of 2 units above the origin and

making an angle of 30° with positive direction of the X -axis.

° Watch Video Solution

7. Obtain Equation of line which satisfy given condition :

Passing through the points ( — 1,1) and (2, — 4).

° Watch Video Solution
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8. Obtain Equation of line which satisfy given condition :
Perpendicular distance from the origin is 5 units and the angle made by

the perpendicular with the positive X -axis is 30°.

° Watch Video Solution

9. The vertices of APQR are P(2,1),Q( —2,3) and R(4,5). Find

equation of the median through the vertex R.

° Watch Video Solution

10. Find the equation of the line passing through ( —3,5) and

perpendicular to the line through the points (2, 5) and ( — 3, 6).

° Watch Video Solution
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1. A line perpendicular to the line segment joining the points

(1,0) and (2, 3) divides it in the ratio 1: n. Find the equation of the line.

° Watch Video Solution

12. Find the equation of a line that cuts off equal intercepts on the

coordinate axes and passes through the point (2, 3).

° Watch Video Solution

13. Find equation of the line passing through the point (2, 2) and cutting

off intercepts on the axes whose sum is 9.

° Watch Video Solution

14. Find equation of the line through the point (0, 2) making an angle

2T
5 with the positive X -axis. Also, find the equation of line parallel to it
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and crossing the Y -axis at a distance of 2 units below the origin.

° Watch Video Solution

15. The perpendicular from the origin to a line meets it at the point

( —2,9), find the equation of the line.

° Watch Video Solution

16. The length L (in centimetre) of a copper rod is a linear function of its
Celsius temperature C. In an experiment, if L = 124.942 when

C =20 and L = 125.134 when C' = 110, express L in terms of C.

° Watch Video Solution

17. The owner of a milk store finds that, he can sell 980 litres of milk each

week at Rs. 14/litre and 1220 litres of milk each week at Rs. 16/litre.
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Assuming a linear relationship between selling price and demand, how

many litres could he sell weekly at Rs. 17/litre ?

° Watch Video Solution

18. P (a, b) is the mid-point of a line segment between axes. Show that

equation of the line is z + % =2.
a

° Watch Video Solution

19. Point R(h, k) divides a line segment between the axes in the ratio 1:2

. Find equation of the line.

° Watch Video Solution

20. By using the concept of equation of a line, prove that the three points

(3,0), ( — 2, —2) and (8, 2) are collinear.

° Watch Video Solution
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1. Reduce the following equations into slope intercept form and find their
slopes and the y- intercepts.

z+T7y=0

o Watch Video Solution

2. Reduce the following equations into slope intercept form and find their
slopes and the y- intercepts.

(i) +3y—5=0

o Watch Video Solution

3. Reduce the following equations into slope intercept form and find their

slopes and the y- intercepts.

(iify =0
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° Watch Video Solution

4. Reduce the following equations in intercept form and find their
intercepts on axis.

3z +2y—12=0

° Watch Video Solution

5. Reduce the following equations in intercept form and find their
intercepts on axis.

(i) 4z — 3y = 6

° Watch Video Solution

6. Reduce the following equations in intercept form and find their
intercepts on axis.

(i) 3y +2 =10

e l
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7. Reduce the following equation in normal form. Find their perpendicular
distances from origin and between perpendicular distance with positive
side of X- axis :

(lz—+3y+8=0

o Watch Video Solution

8. Reduce the following equation in normal form. Find their perpendicular
distances from origin and between perpendicular distance with positive
side of X- axis :

(iyy—2=0

o Watch Video Solution

9. Reduce the following equation in normal form. Find their perpendicular

distances from origin and between perpendicular distance with positive
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side of X- axis :

(iil)x —y=14

° Watch Video Solution

10. Find the distance of the point (—1,1) from the line

12(z + 6) = 5(y — 2).

° Watch Video Solution

1. Find the points on the X-axis, whose distances from the line

% + % = 1 are 4 units.

° Watch Video Solution

12. Find the distance between following pair of parallel lines :

(i) 152 + 8y —34 =0 and 15x + 8y + 31 =0

° Watch Video Solution
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13. Find the distance between following pair of parallel lines :

(il(zr+y)+p=0and l(z+y) —7=0

° Watch Video Solution

14. Find equation of the line parallel to the line 3z — 4y + 2 = 0 and

passing through the point ( — 2, 3).

° Watch Video Solution

15. Find equation of the line perpendicular to the line x — 7y +5 =0

and having x intercept 3.

° Watch Video Solution

16. Find angles between the lines \/3z + y = 1 and = + /3y = 1.

| e |
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17. The line through the points (h, 3) and (4, 1) intersects the line

Tx — 9y — 17 = 0 at right angle. Find the value of h.

° Watch Video Solution

18. Prove that the line through the point (x1, y;) and parallel to the line

Az + By+ C =0is A(z — z,) + By —y;) = 0.

° Watch Video Solution

19. Two lines passing through the point (2, 3) intersects each other at an

angle of 60°. If slope of one line is 2, find equation of the other line.

° Watch Video Solution
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20. Find the equation of the right bisector of the line segment joining the

points(3,4) and ( — 1, 2).

° Watch Video Solution

21. Find the coordinates of the foot of perpendicular from the point

(— 1, 3) totheline 3z — 4y — 16 = 0.

° Watch Video Solution

22.The perpendicular from the origin to the line y = mz 4 c meets it at

the point ( — 1, 2). Find the values of m and c.

° Watch Video Solution

23. If p and q are the lengths of perpendiculars from the origin to the

lines xcosf — ysinf = kcos 20 and xsecd + ycosecd = k
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respectively, prove that P+ 4¢* = K2

° Watch Video Solution

24. In the triangle ABC with vertices A(2, 3), B(4,1) and C(1,2), find

the equation and length of altitude from the vertex A.

° Watch Video Solution

25.If p is the length of perpendicular from the origin to the line whose

1 1
intercepts on the axes are a and b, then show that — = — + —.
P2 a2 b2

° Watch Video Solution

Exercise 10 4

1. Find equation of line passes from point of intersection of

3z +4y =7 and z — y + 2 = 0. whose slope is 5.
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° Watch Video Solution

2. Find equation of the line passes from point of intersection of lines
r+2y—3=0and 4z —y+7=0. Whose is parallel to line

5z + 4y — 20 = 0.

° Watch Video Solution

3. Find equation of line passes from point of intersection at lines

2z + 3y — 4 = 0 and =z — 5y = 7 whose x-intercept is —4.

° Watch Video Solution

4. Find equation of line passes from point of intersection at lines
bx —3y=1and 2x +3y—23 =0 and perpendicular to line

5 — 3y = 1.

° Watch Video Solution
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1. Find the new coordinates of the point in each of the following cases if

origin is shifted to the point ( — 3, — 2) by translation of axes.

(i) (1,1)

° Watch Video Solution

2.Find the new coordinates of the point in each of the following cases if

origin is shifted to the point ( — 3, — 2) by translation of axes.

(i) (0, 1)

° Watch Video Solution

3. Find the new coordinates of the point in each of the following cases if

origin is shifted to the point ( — 3, — 2) by translation of axes.

(iii) (5, 0)



https://dl.doubtnut.com/l/_OG9R5xCqYUDk
https://dl.doubtnut.com/l/_qR8WwUD5qrCU
https://dl.doubtnut.com/l/_d1F4J7cjzo6F
https://dl.doubtnut.com/l/_HsP7cqGCxlD7

° Watch Video Solution

4.Find the new coordinates of the point in each of the following cases if
origin is shifted to the point ( — 3, — 2) by translation of axes.

(ivi(—1, —2)

° Watch Video Solution

5.Find the new coordinates of the point in each of the following cases if
origin is shifted to the point ( — 3, — 2) by translation of axes.

(V) (37 - 5)

° Watch Video Solution

6. Find what the following equation becomes when origin is shifted of the
point (1, 1).

e +zy—3yY> —y+2=0
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7. Find what the following equation becomes when origin is shifted of the
point (1, 1).

(izy—v* —z+y=0

° Watch Video Solution

8. Find what the following equation becomes when origin is shifted of the
point (1, 1).

(izy—x—y+1=0

° Watch Video Solution

Miscellaneous Exercise 10

1. Find the values of k for which the line

(k—3)z— (4—K)y+k*>—Tk+6=0is
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(i) Parallel to the x-axis

Line (k — 3)z — (4 — kK*)y + k> — Tk + 6 = 0.

° Watch Video Solution

2. Find the values of k for which the line
(k—3)z— (4—K)y+k —Tk+6=0is
(ii) Parallel to the y-axis.
° Watch Video Solution
3. Find the values of k for which the line

(k—3)z— (4—K)y+k —Tk+6=0is

(iii) Passing through the origin.

° Watch Video Solution
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4. Find the values of 6 and p, if the equation z cos 6 + ysinf = p is the

normal form of the line \/3z + y + 2 = 0.

° Watch Video Solution

5. Find the equations of the lines, which cut-off intercepts on the axes

whose sum and product are 1 and — 6, respectively.

° Watch Video Solution

6. What are the points on the Y- axis whose distance from the line

Y

= = 1is 4 units.
+4 1S 4 units

r
3

° Watch Video Solution

7. Find perpendicular distance from the origin to the line joining the

points (cos @, sinf) and (cos ¢, sin¢).

| e |
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8. Find the equation of the line parallel to Y -axis and drawn through the

point of intersection of thelinesxz — 7y +5 =0 and 3z +y = 0.

° Watch Video Solution

9. Find the equation of a line drawn perpendicular to the line

% + % = 1 through the point, where it meets the Y-axis.

° Watch Video Solution

10. Find the area of the triangle formed by the Ilines

y—x=0z+y=0and z — k=0.

° Watch Video Solution
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M. Find the value of p so that the three lines
3r+y—2=0,pr +2y—3 =0 and 2z — y — 3 = 0 may intersect at

one point.

° Watch Video Solution

12. If three lines whose equations are
Yy =mx + ¢,y = mox + c3 and y = msx + c3 are concurrent, then

show that m1(<:2 — (23) + m2(03 - C1) + m3(01 - 02) = 0.

° Watch Video Solution

13. Find the equation of the lines through the point (3, 2) which make an

angle of 45° with the linez — 2y = 3.

° Watch Video Solution
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14. Find the equation of the line passing through the point of
intersection of the lines 4 4+ 7Ty — 3 = 0 and 2z — 3y + 1 = 0 that has

equal intercepts on the axes.

° Watch Video Solution

15. Show that the equation of the line passing through the origin and

m =+ tané

i le 6 with the liney = Is — =T
making an angle 6 wi eliney mx—f—msm 1+ mtané

° Watch Video Solution

16. In what ratio, the line joining ( — 1,1) and (5, 7) is divided by the

linex +y=47?

° Watch Video Solution
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17. Find the distance of the line 4z + 7y + 5 = 0 from the point (1, 2)

along theline2z —y = 0.

° Watch Video Solution

18. Find the direction in which a straight line must be drawn through the
point ( — 1, 2). So that its point of intersection with the line z +y =4

may be at a distance of 3 units from this point.

° Watch Video Solution

19. The hypotenuse of a right angled triangle has its ends at the points
(1,3) and ( — 4, 1). Find an equation of the legs (perpendicular sides)

of the triangle.

° Watch Video Solution
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20. Find the image of the point (3, 8) with respect to thelinez + 3y =7

assuming the line to be a plane mirror.

° Watch Video Solution

21. If the lines y = 3z + 1 and 2y = = + 3 are equally inclined to the

liney = mz + 4, find the value of m.

° Watch Video Solution

22.If sum of the perpendicular distances of a variable point P(z, y) form
the lines  + y — 5 =0 and 3z — 2y + 7 = 0 is always 10. Show that P

must move on a line.

° Watch Video Solution
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23. Find equation of the line which is equidistant from parallel lines

9z + 6y —7=0 and 3x + 2y + 6 = 0.

° Watch Video Solution

24. A ray of light passing through the point (1, 2) reflects on the X -axis at
point A and the reflected ray passes through the point (5, 3). Find the

coordinates of A.

° Watch Video Solution

25. Prove that the product of the lengths of the perpendiculars drawn
from the points ( a’ — b, 0) and ( —Va? -V, 0) to the line

£c059 + gsin@ = 1is b’
a b

° Watch Video Solution
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26. A person standing at the junction (crossing) of two straight paths
represented by the equations 2z —3y+4=0and 3z +4y—5=0
wants to reach the path whose equation is 6x — 7y + 8 = 0 in the least

time. Find equation of the path that he should follow.

° Watch Video Solution

Practice Work

1. Prove that (0, —1),(6,7),( —2,3) and (8,3) are the verticle at

rectangle.

° Watch Video Solution

2. Find area at the quadrilateral ABCD with vertices

A(1,1), B(7, — 3),C(12, 2) and D(7, 21).

° Watch Video Solution
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3. A(6,3), B( — 3,5),C(4, — 2) and D(x, 3z) are given points. Find x
__Areaat ADBC 1

f = —.
! Area at AABC 2

° Watch Video Solution

4.Find point on Y -axis which is at the equidistance from the given points

A( —4,3) and B(5, 2).

° Watch Video Solution

5. Find distance PQ between the points

P(acosa, asina) and Q(acos B, asinf).

° Watch Video Solution

6. Find x if the slope of the |line passes from points

)
A(z,2) and B(6, — 8) is e
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° Watch Video Solution

7. Without using Pythagoras theorem prove that
A(12,8),B( — 2,6) and C(6,0) are the verticies of right angled

triangle.

° Watch Video Solution

8. Using definition of slope prove that P(4,8), Q(5,12) and R(9, 28)

are collinear points.

° Watch Video Solution

9. Find slope of the perpendicular line to the line passes from points

(0,8) and (— 5,2).

° Watch Video Solution



https://dl.doubtnut.com/l/_adeS03zVqiDU
https://dl.doubtnut.com/l/_fLSZkCWlIlNg
https://dl.doubtnut.com/l/_5tv5EKSwGvix
https://dl.doubtnut.com/l/_1J2v4dtpwjzX
https://dl.doubtnut.com/l/_InsZxWl2KP6e

10. Find y if the line passes from points (3, y) and (2, 7) is parallel to the

line passes from points ( — 1, 4) and (0, 6).

° Watch Video Solution

11. Prove that line passes from the points A(4, — 6) and B( — 2, — 5)

makes obtuse angle with X- axis.

° Watch Video Solution

12. A(—2,1),B(2,3) and C( — 2, — 4) are verticies of AABC. Find

measure of /B.

° Watch Video Solution

13. Angle between two lines is 45° and slope of one line is 2 then find

slope of second line.

| ° Wiak A \NtAAaA CAlLiikiAan



https://dl.doubtnut.com/l/_InsZxWl2KP6e
https://dl.doubtnut.com/l/_wMIeccvJK3u7
https://dl.doubtnut.com/l/_G4zsqpilipWU
https://dl.doubtnut.com/l/_RrojvPyvShIG
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4. A(0,2),B(—2, —1),C(4,0) and D(2,3) are vertices of
parallelogram ABCD. If angle between its diagonal is 6 then prove that

tanf = 3.

° Watch Video Solution

15. Two lines passes through (0,0),(2,3) and (2, — 2),(3,5). Find

measure of an angle between them.

° Watch Video Solution

16. Obtain the equation of the line which satisfying given condition :

(1) Passes from points A( — 1, 8) and B(4, — 2).

° Watch Video Solution



https://dl.doubtnut.com/l/_RrojvPyvShIG
https://dl.doubtnut.com/l/_zCMLxMFs3crV
https://dl.doubtnut.com/l/_TaJ8ebXvTtFW
https://dl.doubtnut.com/l/_khwb8oLvUlWQ

17. Obtain the equation at the line in Ex. (1) to (10) satisfying given
condition :

Equation of perpendicular bisector of AB joining

A(—2,3) and B(4, 5).

° Watch Video Solution

18. Obtain the equation at the line in Ex. (1) to (10) satisfying given
condition :

Equation of the line whose X- intercept is 4 and slope 3

° Watch Video Solution

19. Obtain the equation at the line in Ex. (1) to (10) satisfying given
condition :

Length of perpendicular from origin is 7 unit and slope —1.

° Watch Video Solution



https://dl.doubtnut.com/l/_qFl7Gg1w9SdR
https://dl.doubtnut.com/l/_dLPhMriqRs1I
https://dl.doubtnut.com/l/_Nc1nhrYHVKFz

20. Obtain the equation at the line in Ex. (1) to (10) satisfying given
condition :

Passes from point ( — 4, 3) and parallel to Y-axis.

° Watch Video Solution

21. Obtain the equation at the line in Ex. (1) to (10) satisfying given
condition :

4
Equation of line with p = 2 and sinf = 5

° Watch Video Solution

22. Obtain the equation at the line in Ex. (1) to (10) satisfying given
condition :

Passes from point (1, — 2) and makes equal intercepts an axes.

° Watch Video Solution



https://dl.doubtnut.com/l/_bJCU8H8ThiPb
https://dl.doubtnut.com/l/_gkGU84TiZnE1
https://dl.doubtnut.com/l/_bTNrwopjL1U1
https://dl.doubtnut.com/l/_xdqbJOcC1l9v

23. Obtain the equation at the line in Ex. (1) to (10) satisfying given
condition :

Equation of horizontal and vertical line passes from point ( — 5, 6).

° Watch Video Solution

24. Obtain the equation at the line in Ex. (1) to (10) satisfying given
condition :
Equation of line which is of the equidistance from the line

= —2and z = 6.

° Watch Video Solution

25. Obtain the equation at the line in Ex. (1) to (10) satisfying given
condition :

m
Length of perpendicular from origin is 7 unit and makes an angle 3 with

positive side of X-axis.

° Watch Video Solution



https://dl.doubtnut.com/l/_xdqbJOcC1l9v
https://dl.doubtnut.com/l/_3WIehpuC1zJH
https://dl.doubtnut.com/l/_N1qwlgvO3MgA

26. Prove that point (4, 1) divides perpendicular line segment joining

points (6, 5) and (2, — 1) in ratio 8: 5 internally.

° Watch Video Solution

27. A(5,2),B(2,3) and C(6,5) are the verticies of AABC. Find

equation of internal bisector of /BAC.

° Watch Video Solution

28. Find equation of line whose sum and product of intercepts on axis are

1 and — 6 respectively.

° Watch Video Solution



https://dl.doubtnut.com/l/_N1qwlgvO3MgA
https://dl.doubtnut.com/l/_w5mScpxIZwNn
https://dl.doubtnut.com/l/_BTWX7rpMsHua
https://dl.doubtnut.com/l/_0Ail9QL1uXhS

29. Line makes right angled triangle with axis whose area is 6 unit and

length of its hypoteneous is 5 unit. Find equation of line.

° Watch Video Solution

30. Find equation of line L whose length of perpendicular from origin is 2

3
it with sl —.
unit with slope —

° Watch Video Solution

31. In which ratio line x + y = 4 divides line segment joining points

(—1,1) and (5,7)?

° Watch Video Solution

32. Equation at sides of rectangle arex = a,x =a’,y =0 and y =b".

Obtain equation of its diagonals.

| e |


https://dl.doubtnut.com/l/_yIxeUCRYW7GS
https://dl.doubtnut.com/l/_WOxxlBt9rBnq
https://dl.doubtnut.com/l/_6jfcRudabu6o
https://dl.doubtnut.com/l/_kMgGMALSHk24

l &J Watch Video Solution J

33. Find equation of line passes from point P(1, — 7) which intersects

axis is at points A and B such that 4AP — 3BP = 0.

° Watch Video Solution

34. A(1,4), B(2, — 3) and C( — 1, — 2) are the verticies at AABC
then find, (1) Equation of median from A. (2) Equation of perpendicular

from A. (3) Equation of perpendicular bisector of BC.

° Watch Video Solution

50
35. Find the equation of line which makes a triangle with area 7 unit
3

T
with axis and perpendicular from origin makes an angle r with positive

side of X-axis.

o Watch Video Solution



https://dl.doubtnut.com/l/_kMgGMALSHk24
https://dl.doubtnut.com/l/_77kpskgvpnaM
https://dl.doubtnut.com/l/_QLAqDOQqhUyX
https://dl.doubtnut.com/l/_uaRpwFGr9nbN

36. A ray of light passing through the point (1, 2) reflects on the X -axis at
point A and the reflected ray passes through the point (5, 3). Find the

coordinates of A.

° Watch Video Solution

37. Prove that line segment joining mid points of the two sides of the

triangle is parallel to third side.

° Watch Video Solution

38. The Fahrenheit remperature F and absolute temperature K satisfy a
linear equation. Given that K = 273 when F = 32and that K = 373
when F = 212.

Express K in terms of F and find the value of F,when K=0.

° Watch Video Solution



https://dl.doubtnut.com/l/_7FKIjd0kuh60
https://dl.doubtnut.com/l/_RNJ4qfiiZ2FW
https://dl.doubtnut.com/l/_4DY7SVWnbQgo
https://dl.doubtnut.com/l/_bcoR648YwTLW

30.L:3z +2y—7=0

(1) Reduce the above equation in slope intercept from. Find their slope
and y -intercept.

(2) Reduce the equation into intercept from. Find their intercepts on axis.
(3) Reduce the equation in normal form and find perpendicular distance
from origin and measure of an angle made by perpendicular with positive

side of X -axis.

° Watch Video Solution

40. Find points on line z +y+3 =0 whose distance from line

z + 2y + 2 = 0is /5 unit.

° Watch Video Solution

41. Length of perpendicular from origin to the line % + % =1lisp If

a?, p* and b® are in AP. then prove that ot + 0t =0.

° Watch Video Solution



https://dl.doubtnut.com/l/_bcoR648YwTLW
https://dl.doubtnut.com/l/_p2vi923Zo6vI
https://dl.doubtnut.com/l/_qBpzOOxh3REl

42. Find perpendicular distance from point (3, —1) to the line

12z — 5y — 7= 0.

° Watch Video Solution

43. If two sides of the quadrilateral are along the lines

x+2y+ 3 =0 and = + 2y = 5. Find its area.

° View Text Solution

44. Find equation of parallel line to line 2z + 3y + 11 = 0 and whose

sum of intercept is 15.

° Watch Video Solution



https://dl.doubtnut.com/l/_qBpzOOxh3REl
https://dl.doubtnut.com/l/_7OjQmYyi94ei
https://dl.doubtnut.com/l/_kcaeZRoi3HVH
https://dl.doubtnut.com/l/_I1XbhcdeNp4b

45.Find equation of line at the distance 3 from origin and perpendicular

to the line y/3z —y + 5 = 0.

° Watch Video Solution

4
46. Find equation of line whose y- intercept is 3 and perpendicular to the

line3x — 4y + 11 = 0.

° Watch Video Solution

47. Prove that lines
3t +y+4=0,3x +4y = 20 and 24z — Ty + 5 = 0 are sides of an

equilateral triangle.

° Watch Video Solution



https://dl.doubtnut.com/l/_vz9uGArnQeHY
https://dl.doubtnut.com/l/_PIX3Dzgxt0hq
https://dl.doubtnut.com/l/_WDigHAWY0QMc

48. One side and are vertex of the equilateral triangle is

2z + 2y — 5 = 0 and (1, 2) respectively. Find equation of other sides.

° Watch Video Solution

49. Find equation of lines which bisects the quadrents.

° Watch Video Solution

50. Prove that the product of the lengths of the perpendiculars drawn
from the points ( a® — b, 0) and ( —Va? — ¥, 0) to the line

£c059 + gsinﬂ = 1is b’
a b

° Watch Video Solution

51. Find equation of line passes from middle of two parallel lines

9z + 6y —7=0 and 3x + 2y + 6 = 0.

| e ]


https://dl.doubtnut.com/l/_B9G04JwRACOf
https://dl.doubtnut.com/l/_zJX8m8YBsapx
https://dl.doubtnut.com/l/_5q2SOHOAc97l
https://dl.doubtnut.com/l/_rxBEuPBoPkYI

l & Watch Video Solution J

52. Find length of perpendicular from origin to the lines passes from

points (cos @, sinf) and (cos ¢, sin ¢).

° Watch Video Solution

53. Find foot of perpendicular from point (2,3) on the line

z+y+1=0.

° Watch Video Solution

54. Find the equation at line passes from point of intersection at lines
x+2y=>5and 3z + 7y = 12. which is perpendicular to line

3z + 4y = 10.

° Watch Video Solution



https://dl.doubtnut.com/l/_rxBEuPBoPkYI
https://dl.doubtnut.com/l/_93XEuLUy36rQ
https://dl.doubtnut.com/l/_hzxnGSHm92eu
https://dl.doubtnut.com/l/_dbKgMtvZzSpJ
https://dl.doubtnut.com/l/_dczQ9IZDk6Aw

55. Find equation of line passes from point of intersection at lines
4r — 3y — 1 =0 and 2x — 5y + 3 = 0 which makes equal angle with

axis.

° Watch Video Solution

56. Find equation of line passes from point of intersection at lines
x—y—1=0 and 2x — 3y + 1 = 0. Which is (i) Parallel to X- axis. (ii)

Parallel to Y- axis and (iii) Parallel to line 3z + 4y = 14.

° Watch Video Solution

57. If origin is shifted to point (1, — 2) then find the new transformed
form of the following equation.
222+ —dx+4y=0

(iy? —4z + 4y +8=10

° Watch Video Solution



https://dl.doubtnut.com/l/_dczQ9IZDk6Aw
https://dl.doubtnut.com/l/_qMGsGFIvEyEz
https://dl.doubtnut.com/l/_xues4gwld6hf
https://dl.doubtnut.com/l/_8r1jSYin9fDf

58. At which origin will be shifted so, that new coordinate at point (4, 5)

willbe (—3,9) ?

° Watch Video Solution

59. On which point we shift origin so that new transformed form of the
equation y> 4+ 4y + 8z — 2 = 0 does not contain constant term and

term does not containy ?

° Watch Video Solution

60. Prove that area at triangle will remain same by shifting origin at any

point.

° Watch Video Solution

61. By shifting origin at ( — 2,3) find new transformed form at the

equation y + 3z = 2.


https://dl.doubtnut.com/l/_8r1jSYin9fDf
https://dl.doubtnut.com/l/_iPDTGE9Z79vW
https://dl.doubtnut.com/l/_akiPmWSJLZN9
https://dl.doubtnut.com/l/_6ng0GYoBngP1

° Watch Video Solution

62. Find equation of line passes from (\/5, — 1) whose perpendicular

distance is 4/2 from origin.

° Watch Video Solution

63. Two oppositive verticies of rectangle are ( — 3,1) and (1, 1). Also
equation of one side is along the line 4z 4+ 7y + 5 = 0. Find equation of

other sides of rectangle.

° Watch Video Solution

64. Lines 3z + 4y + 5 = 0 and 4x — 3y — 10 = 0 intersects at point A.

B is the point on line 3z +4y +5 =0 and point C lies on line
—

4 — 3y — 10 = 0. such that AB = AC. Find equation of BC passes

from point (1, 2).

.Y l


https://dl.doubtnut.com/l/_6ng0GYoBngP1
https://dl.doubtnut.com/l/_EqftAb0SbTms
https://dl.doubtnut.com/l/_TGo2kHhob2XG
https://dl.doubtnut.com/l/_vFGsYfU8ZiuX

| ¥ VIEwW IeXt Solution J

65. Find image of point ( — 8, 12) with respect to line 4z + Ty + 13 = 0.

° Watch Video Solution

66. Two sides of the triangle are along the lines
3z — 2y + 6 =0 and 42 + 5y — 20 = 0. If ortho centre of the triangle

is (1, 1). Find the equation of third side of the triangle.

° Watch Video Solution

67. A(0, —1, —2),B(3,1,4) and C(5,7,1) are vertices of AABD

then find the measure of ZA.

° Watch Video Solution



https://dl.doubtnut.com/l/_vFGsYfU8ZiuX
https://dl.doubtnut.com/l/_qoWnhU6rFStC
https://dl.doubtnut.com/l/_8Swa7TWuvHmZ
https://dl.doubtnut.com/l/_8AbZNm3SisQm

68. Point (2, 1) has reflection as simple mirror (5, 2). Find equation of

line.

° Watch Video Solution

69. Base of the equilateral triangle is along the linex + y — 2 = 0 and its

one vertex is (2, — 1). Find area of triangle.

° Watch Video Solution

70. Find equation of line passess from point (2, 3) and cuts line segment

2/2 .
of length —5— between the lines 2z + y = 3 and 2z + y = 5.

o View Text Solution

71. Find equation of line whose sum and product of intercepts on axis are

7 and 12 respectively.



https://dl.doubtnut.com/l/_b6p0fATXcylx
https://dl.doubtnut.com/l/_Tw5ZLTcg78h6
https://dl.doubtnut.com/l/_V45kTyXBfmog
https://dl.doubtnut.com/l/_VaJ2ceX5CAnK

l ) Watch Video Solution J

72. Without finding point of intersection obtain the equation of line
passes from point of intersection of lines
5 +y+4=0and 2z 4+ 3y — 1= 0. which is parallel to the line

dr — 2y —1=0.

o Watch Video Solution

73. Two adjacent sides of the parallogram are
4z 4+ by = 0 and 7z + 2y = 0 one diagonal of the parallogram is along

line 11z + 7y = 9. Then find equation of other diagonal.

o Watch Video Solution

74. If m; and my are the roots of the equation

2’ + (v3+2)z + /3 —1=0 then prove that area of the triangle

2
formed by the lines y = miz,y = maz and y = cis CZ (v/33 + /11).


https://dl.doubtnut.com/l/_VaJ2ceX5CAnK
https://dl.doubtnut.com/l/_mNM8lfCSUT9B
https://dl.doubtnut.com/l/_rQ5MQ1UpbNOa
https://dl.doubtnut.com/l/_LLeJ6S8sJJZo

° Watch Video Solution

75. Find distance from point (3,5) to the line 2z + 3y = 14 and the

distance to the line parallel to z — 2y = 1.

° Watch Video Solution

76. If the lines ax +y+1 =0,z +by+1=0and x +y+c=0 are

concurrent then prove that,
1 1 1

° Watch Video Solution

Text Based Mcgs

3
| is the equation of line passes from point A <2, — 5) and parallel

to X- axis.


https://dl.doubtnut.com/l/_LLeJ6S8sJJZo
https://dl.doubtnut.com/l/_y3V44aSIvVvy
https://dl.doubtnut.com/l/_oN5nRg2UpENg
https://dl.doubtnut.com/l/_YuzO4rGugBUx

B.2r —3=0

C2y—3=0

D.2y+3=0
Answer: D

o Watch Video Solution

2. Line x + y = 4 divides AB joining A( — 2,3) and B(1,5) in ratio
1: \formAthen A = ......

A 3:2

B.2:3

C.1:3

D.—2:3

Answer: B



https://dl.doubtnut.com/l/_YuzO4rGugBUx
https://dl.doubtnut.com/l/_vRPPsl035uv2

| ° Watch Video Solution

3. Perpendicular distance from origin to line 3z 4+ 4y + 10 = O is ........

o= oo

D.2

Answer: D

° Watch Video Solution

are verticies of triangle. Then

4. (1,2), (2, 1), (3+2*/§, 3+2*/§>

distance between circumcentre and orthocentre is ... ..

A0


https://dl.doubtnut.com/l/_vRPPsl035uv2
https://dl.doubtnut.com/l/_Ng2KbCFFjaxO
https://dl.doubtnut.com/l/_4liIb7d5SkQZ

C.3+ 43

D. None of these

Answer: A

° Watch Video Solution

5. Two maiden are drawn from the verticies of an acute angles of the

isosceless right angled triangle then angle between them is ...

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_4liIb7d5SkQZ
https://dl.doubtnut.com/l/_SP1KVZLeSfxC
https://dl.doubtnut.com/l/_56xShVYMi1qj

L R— is the y intersept of the line passes from point (2,2) and

perpendicular to 3z + y = 3.

>

w
Wl W=

Answer: D

o Watch Video Solution

7. Area of the triangle with verticies ( — 4, 1), (1, 2) and (4, — 3) is

A 17
B. 16
C.15

D. None of these


https://dl.doubtnut.com/l/_56xShVYMi1qj
https://dl.doubtnut.com/l/_Wg5ch0dT2tKK

Answer: A

° Watch Video Solution

8 In .. ratio Y -axis divides line segment joining points
(—3, —4) and (1, — 2).

Al:3

B.2:3

C.3:1

D.3:2

Answer: C

° Watch Video Solution

9. P, and P, are the length of perpendicular from origin to the line

xsecl + ycosecd = a and xcosf — ysinf = a cos 20 then .. of the


https://dl.doubtnut.com/l/_Wg5ch0dT2tKK
https://dl.doubtnut.com/l/_ykY0xffeNhOx
https://dl.doubtnut.com/l/_UteOSFVszzZB

following is valid.
A.4P? + P} = a?
B. P2 + 4P} = o’
C.P?+P}=ad

D. None of these

Answer: A

o Watch Video Solution

10.If a + b+ ¢ = 0 then line 3az + by + ¢ = 0 passes from ... of the

following point.

(23

D. None of these


https://dl.doubtnut.com/l/_UteOSFVszzZB
https://dl.doubtnut.com/l/_zVyyoT1jvD1o

Answer: B

° Watch Video Solution

1M.Lines ax + by &= ¢ = Orepresents ... of the following.

A. Rectangle

B. Square

C.Rhombus

D. None of these

Answer: C

° Watch Video Solution

12. (5, 2) is the mid point of the line segment intercepted between axes

then equation of line is.......


https://dl.doubtnut.com/l/_zVyyoT1jvD1o
https://dl.doubtnut.com/l/_9cRJcptrwy9R
https://dl.doubtnut.com/l/_yC1SBpGAEOkH

A Sz + 2y = 20

B.2z + 5y = 20

C.5z — 2y = 20

D.2z — by = 20
Answer: B

o Watch Video Solution

13. P — a form of the line z + /3y — 4 = O is......

cos() sin(m) X
6 6
cos() sin()
=2
3 VT3
Cacos( = 3) +ysin( - 3) =2
.zcos( — 3 ysin( — =) =
T . T
D.:I:cos( — E) +ys1n( — E) =2
Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_yC1SBpGAEOkH
https://dl.doubtnut.com/l/_xCUVUEmDNB9G

14.If the lines x cosa + ysina = P and = — /3y + 1 = 0 are mutually

perpendicular thena = .. ....

N w >

o
w3y w3y &3 3

Answer: C

° Watch Video Solution

15. Perpendicular distance between

3r +4y—5=0 and 6x + 8y — 15 =0is .....


https://dl.doubtnut.com/l/_xCUVUEmDNB9G
https://dl.doubtnut.com/l/_Fb5jyNbz88nl
https://dl.doubtnut.com/l/_HQqccqcpaRD6

22
10

D.2

Answer: B

o Watch Video Solution

16. Lines 3x +4y =5,5x +4y =4 and Az +4y = 6 passes from
unique point then value of A = ...

A2

B.1

C.3

D.4

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_HQqccqcpaRD6
https://dl.doubtnut.com/l/_kJUJwWz41xDn
https://dl.doubtnut.com/l/_Ih0L0mhUW8Bu

17.(2, 7) is the centroid of the triangle with verticies (4, 8) and ( — 2, 6)

then its third vertex is ...........

Answer: B

o Watch Video Solution

18. A(0, b), B(0,0) and C(a, 0) are verticies of AABC. If the medians

AD and BE are mutually perpendicular then ... of the following is true.

Aa—ﬁ
2

B.b =

| e

C.ab=1


https://dl.doubtnut.com/l/_Ih0L0mhUW8Bu
https://dl.doubtnut.com/l/_L1H7OhyMsrkA

D.a = ++/2b

Answer: D

° Watch Video Solution

19. . is the foot of perpendicular from point ( — 2, 3) to the line
2r —y—3 =0.

A(—23)

B.(2,1)

C.(3,2)

D. (1, 2)

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_L1H7OhyMsrkA
https://dl.doubtnut.com/l/_mxNUT2FiEZvS

20. ... of the following is the line joining the point of intersection

y—z+7=0and y+ 2z — 2 = 0and origin.

Adx +3y=20
B.3x —4y =10
Cdx —3y=20
D.4x +3y =0
Answer: D

o Watch Video Solution

21. Angle between the ... intersecting lines

2t —y+3=0and x +2y+3 =0.

A.90°

B.60°

C.45°


https://dl.doubtnut.com/l/_DbCNYXpfA0Mn
https://dl.doubtnut.com/l/_Cr3OBjWFKiJG

D.30°

Answer: A

° Watch Video Solution

22. ... Is the line passes from point (1, 2) and perpendicular to the line
z+y+7=0.

Az+y+3=0

Bz —-—y+1=0

Cy—x+1=0

D.2z —y =0

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_Cr3OBjWFKiJG
https://dl.doubtnut.com/l/_CAB96jE1azYs

23. Lines az + by =c and a’x + b’y = ¢’ are mutually perpendicular

then ... of the following is valid.
Aaa’ =1
B.aa’ +7 =0

C.aa’ —1t =0

D.ab’ +a’'b=0

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_H7Sp2cMPKo8C
https://dl.doubtnut.com/l/_aWIaosWEQhXQ

Answer: A

° Watch Video Solution

25. If the lines
mz+(2m+3)y+m+6=0and 2m+ )z + (m —1)y+m —9=10

intersects on Y-axis thenm = ......

A.—10R21
B.10OR 21
C.—10R-21
D 1OR 3
2 2
Answer: D

° Watch Video Solution

Latest Exam Mcqs



https://dl.doubtnut.com/l/_aWIaosWEQhXQ
https://dl.doubtnut.com/l/_5mIJ1gQ19JED
https://dl.doubtnut.com/l/_Y1kMJhXwik8K

1. Line passess from fixed point (2, 3) intersects axis of points P and Q. If
O is origin and OPRQ will be rectangle then locus of point R is ...

Adz +2y==6

B.2x 4+ 3y = zy

C3z +2y==zy

D.3z + 2y = bzy

Answer: C

° Watch Video Solution

Textbook lllustrations For Practice Work

1. Find the slope of the lines :

(a) Passing through the points (3, — 2) and ( — 1, 4),

° Watch Video Solution



https://dl.doubtnut.com/l/_Y1kMJhXwik8K
https://dl.doubtnut.com/l/_6SSEiM9b2lS2

2.Find the slope of the lines :

(b) Passing through the points (3, — 2) and (7, — 2),

° Watch Video Solution

3. Find the slope of the lines :

(c) Passing through the points (3, — 2) and (3, 4),

° Watch Video Solution

4.Find the slope of the lines :

(d) Making inclination of 60° with the positive direction of x-axis.

° Watch Video Solution

1
5.If the angle between two lines is % and slope of one of the lines is 2

find the slope of the other line.

| e |


https://dl.doubtnut.com/l/_cf54RksNZDxD
https://dl.doubtnut.com/l/_07t71Tr9LStn
https://dl.doubtnut.com/l/_qfV7s858Xum2
https://dl.doubtnut.com/l/_ZNkIZIoxQh1i

I & Watch Video Solution

6. Line through the points ( — 2,6) and (4, 8) is perpendicular to the

line through the points (8, 12) and (z, 24). Find the value of z.

° Watch Video Solution

7.Three points P(h, k), Q(x1, y;) and R(x3, ys) lie on a line. Show that,

(h —z1)(y2 — 1) = (k —y1)(z2 — z1).

° Watch Video Solution

8.In Figure, time and distance graph of a linear motion is given.
Two positions of time and distance are recorded as, when T' = 0, D = 2

and when T' = 3, D = 8. Using the concept of slope, find law of motion,


https://dl.doubtnut.com/l/_ZNkIZIoxQh1i
https://dl.doubtnut.com/l/_WDgvfvIQ7rQc
https://dl.doubtnut.com/l/_6ITbHXx7g8OE
https://dl.doubtnut.com/l/_0Dz47Pm9DhzF

i.e., how distance depends upon time.

|

° Watch Video Solution

9. Find the equations of the lines parallel to axes and passing through

(—2,3).

° Watch Video Solution



https://dl.doubtnut.com/l/_0Dz47Pm9DhzF
https://dl.doubtnut.com/l/_KlBpYnmzI0ag

10. Find the equation of the line through ( — 2, 3) with slope —4.

° Watch Video Solution

11. Write the equation of the line through the points (1, — 1) and (3, 5).

° Watch Video Solution

1
12. Write the equation of the lines for which tanf = 3 where 0 is the
N . 3
(i) y -interceptis = — 5

° Watch Video Solution

1
13. Write the equation of the lines for which tanf = 2 where 6 is the

(ii) x intercept is = 4.

° Watch Video Solution



https://dl.doubtnut.com/l/_thKM5KzuJDeB
https://dl.doubtnut.com/l/_fJhAvmkGCKPc
https://dl.doubtnut.com/l/_cTFxUarL2pES
https://dl.doubtnut.com/l/_1iBsuGQwzVtT
https://dl.doubtnut.com/l/_tGEfgIBXvTlZ

14. Find the equation of the line, which makes intercepts —3 and 2 on

thez — and y — axes respectively.

° Watch Video Solution

15. Find the equation of the line whose perpendicular distance from the
origin is 4 units and the angle which the normal makes with positive

direction of x -axis is 15°.

° Watch Video Solution

16. The fahrenheit temperature F and absolute temperature K satisfy the
linear equation. Given that K = 273 when F' = 32 and that K = 373

when F' = 212. Express K in terms of F" also find value of F' when K = 0.

° Watch Video Solution



https://dl.doubtnut.com/l/_tGEfgIBXvTlZ
https://dl.doubtnut.com/l/_yXkh8EV1MBmd
https://dl.doubtnut.com/l/_q3lwVzHvFhq9

17. Equation of a line is 3z — 4y + 10 = 0. Find its

(i) slope,

° Watch Video Solution

18. Equation of a line is 3x — 4y + 10 = 0. Find its

(ii) x -intercepts and y -intercepts.

° Watch Video Solution

19. Reduce the equation 1/3z +y — 8 = 0 into normal form. Find the

value of p and w.

° Watch Video Solution

20. Find the angle between the lines

y— 43z —5=0and /3y—z+6=0.



https://dl.doubtnut.com/l/_5hRTZBlrGqTA
https://dl.doubtnut.com/l/_lAmLjUgvv7u2
https://dl.doubtnut.com/l/_K9GWYAU9Jrfr
https://dl.doubtnut.com/l/_4ne0HKr4Up63

I & Watch Video Solution

21. Show that two lines a;z + bjyy +¢; = 0 and asx + byy + co = 0,

where by, by # 0 are

(i) Parallel if @ _ %2 and

1 2

° Watch Video Solution

22. Show that two lines a;z + byyy + ¢ = 0 and asx + byy + co = 0,

where by, by # 0 are Perpendicular if a;as + biby = 0.

° Watch Video Solution

23. Find the equation of a line perpendicular to the linex — 2y +3 =0

and passing through the point (1, — 2).

° Watch Video Solution



https://dl.doubtnut.com/l/_4ne0HKr4Up63
https://dl.doubtnut.com/l/_FH0KhGBrGDjI
https://dl.doubtnut.com/l/_GKZ8u6K84gHC
https://dl.doubtnut.com/l/_6aKUmrmzl9fR
https://dl.doubtnut.com/l/_9R3YKbr6rfG3

24. Find the distance of the point (3, —5) from the line

3r — 4y — 26 = 0.

° Watch Video Solution

25.  Find the distance between the parallel lines

3r —4y+7=0and 3z —4y+ 5= 0.

° Watch Video Solution

26. Find the equation of line parallel to the Y- axis and drawn through the

point of intersectionofz —7+5=0and 3z +y— 7= 0.

° Watch Video Solution

27. Find the new coordinates of point (3, — 4) if the origin is shifted to

(1, 2) by a translation.

° Watch Video Solution



https://dl.doubtnut.com/l/_9R3YKbr6rfG3
https://dl.doubtnut.com/l/_0Atbw33DJctV
https://dl.doubtnut.com/l/_2eGchRrugk8I
https://dl.doubtnut.com/l/_giePBXJYZOZ5

28. Find the transformed equation of the straight line 2z — 3y + 5 = 0,

when the origin is shifted to the point (3, — 1) after translation of axes.

° Watch Video Solution

29. If the lines 2z +y—3=0,bx +ky—3=0and 3z —y—2=10

are concurrent, find the value of k.

° Watch Video Solution

30. Find the distance of the line 4o — y = 0 from the point P (4, 1)

measured along the line making an angle of 135° with the positive x- axis.

° Watch Video Solution



https://dl.doubtnut.com/l/_giePBXJYZOZ5
https://dl.doubtnut.com/l/_inNcuRZack5U
https://dl.doubtnut.com/l/_PuVJl8LleJMT
https://dl.doubtnut.com/l/_D8aBnYUbCULD

31. Assuming that straight lines work as the plane mirror for a point, find

the image of the point (1, 2) in the linez — 3y + 4 = 0.

° Watch Video Solution

32. Show that the area of the triangle formed by the lines

(c1 — )’

y=miz +c,y=mex +c2 and x = 0is .
2|m1—m2\

° Watch Video Solution

33. A line is such that its segment between the lines
5z —y+4=0and 3z +4y —4 = 0 is bisected at the point (1,5).

Obtain its equation.

° Watch Video Solution



https://dl.doubtnut.com/l/_itjYQCx2GqBq
https://dl.doubtnut.com/l/_np6ImrD3fgJQ
https://dl.doubtnut.com/l/_SH5ihSCBwXnj

34. Show that the path of a moving point such that its distances from

two lines 3z — 2y = 5 and 3z + 2y = b5 are equal is a straight line.

° Watch Video Solution

Solutions Of Ncert Exemplar Problems Short Answer Type Questions

1. Find the equation of the straight line which passes through the point

(1, — 2) and cuts off equal intercepts from axes.

° Watch Video Solution

2. Find the equation of the line passing through the point (5, 2) and
perpendicular to the line segment joining the points

(2,3) and (3, — 1).

° Watch Video Solution



https://dl.doubtnut.com/l/_ypQ9gvUfhfkS
https://dl.doubtnut.com/l/_MXk3n6nunots
https://dl.doubtnut.com/l/_tCN9pGRmriQi
https://dl.doubtnut.com/l/_SRvB3K4V6GEr

3.Find the angle between the lines

L:y=(2-+/3)(z+5)and

Liy=(2+3)(z—7).

Thinking Process : If the angle between the lines having the slope

m; —m
B . Use this formula to solve the

my and my is 0 then tanf =
1+ mims

above problem.

° Watch Video Solution

4. Find the equation of the lines which passes through the point (3, 4)
and cuts off intercepts from the coordinate axes such that their sum is

14.

° Watch Video Solution

5.Find the points on the line z + y = 4 which lie at a unit distance from

the line 4= + 3y = 10.

° Watch Video Solution



https://dl.doubtnut.com/l/_SRvB3K4V6GEr
https://dl.doubtnut.com/l/_SfpB9laqCFCr
https://dl.doubtnut.com/l/_GKMDk5mi09EJ

6. Show that the tangent of an angle between the lines

T Y T Y . 2ab
= Z =1 d —— = =1is ——.
a+b an a b Isa?—b2

o Watch Video Solution

7.Find the equation of lines passing through (1, 2) and making angle 30°
with Y- axis.
Thinking Process : Equation of a line passing through the point (z1, ;)

and having slopemisy — y; = m(z — z).

o Watch Video Solution

8. Find the equation of the line passing through the point of intersection
of 2z +y =5 and x + 3y + 8 = 0 and parallel to the line 3x + 4y = 7.
Thinking Process : First find point of intersection of given lines and take

slope m of intersection of given lines and take slope m of

Yy—U :m(w —501)-


https://dl.doubtnut.com/l/_GKMDk5mi09EJ
https://dl.doubtnut.com/l/_dY15stlRJdXI
https://dl.doubtnut.com/l/_W24pksdeu4gS
https://dl.doubtnut.com/l/_OlIQJdirbT6F

° Watch Video Solution

9. For what values of a and b the intercepts cut off on the coordinate axes
by the line ax + by + 8 = 0 are equal in length but opposite in signs to

those cut off by the line 2z — 3y + 6 = 0 on the axes?

° Watch Video Solution

10. If the intercept of a line between the coordinate axes is divided by the
point ( — 5, 4) in the ratio 1: 2, then find the equation of the line.
Thinking Process : Coordinates of the point which divides line segment

joining (z1,y1) and (x3, ys) in ratio

(my:my) (

mix2 + maxr1 MiY2 + Mayi
, .
mi1 + ma m1 + ma

° Watch Video Solution



https://dl.doubtnut.com/l/_OlIQJdirbT6F
https://dl.doubtnut.com/l/_RapivRACqQqT
https://dl.doubtnut.com/l/_rdVfBQaDm9Dz

11. Find the equation of a straight line on which length of perpendicular
from the origin is four units and the line makes an angle of 120° with the
positive direction of X -axis.

Thinking Process : Equation of line which makes an angle a with positive
side of X axis and whose length of perpendicular from origin p is given by

rcosa + ysina = p.

° Watch Video Solution

12. Find the equation of one of the sides of an isosceles right angled
triangle whose hypotenuse is given by 3z 4+ 4y = 4 and the opposite

vertex of the hypotenuse is (2, 2).

° Watch Video Solution

Solutions Of Ncert Exemplar Problems Long Answer Type Questions


https://dl.doubtnut.com/l/_bk8ORC8Tk9Ur
https://dl.doubtnut.com/l/_iSAfLaDMLpKQ

1. If the equation of the base of an equilateral triangle is z + y = 2 and

the vertexis (2, — 1), then find the length of the side of the triangle.

° Watch Video Solution

2. A variable line passes through a fixed point P. The algebraic sum of the
perpendiculars drawn from the points (2,0), (0,2) and (1,1) on the

line is zero. Find the coordinates of the point P.

° Watch Video Solution

3. In what direction should a line be drawn through the point (1, 2) so

that its point of intersection with the line x 4+ y = 4 is at a distance 5

from the given point ?

o Watch Video Solution



https://dl.doubtnut.com/l/_QMdrR5SCScjy
https://dl.doubtnut.com/l/_psZsyBGNO3dc
https://dl.doubtnut.com/l/_4eKjnHCzx624

4. A straight line moves so that the sum of the reciprocals of its

intercepts made on axes is constant. Show that the line passes through a

fixed point.

Thinking Process : For line which makes intercepts on axis % + % =1If
! + : tant - th i + k 1 and if fi

— + — = constant | — en — + — = 1 and we say if passes from
a7 k a b yap

point (k, k).

o Watch Video Solution

5.Find the equation of the line which passes through the point ( — 4, 3)
and the portion of the line intercepted between the axes is divided

internally in the ratio 5: 3 by this point.

o Watch Video Solution

6. Find the equations of the lines through the point of intersection of the
linesz —y+ 1 =0 and 2z — 3y + 5 = 0 and whose distance from the

point (3, 2) is g


https://dl.doubtnut.com/l/_SH6eReKWzucy
https://dl.doubtnut.com/l/_T2qbvipqEbHO
https://dl.doubtnut.com/l/_DGooVNRVHktr

° Watch Video Solution

7.1f the sum of the distances of a moving point in a plane from the axes is
1, then find the locus of the point.
Thinking Process : Given that |z| + |y| = 1 which gives four sides of a

square.

° Watch Video Solution

8. P, P, are points on either of the two lines y — /3|z| =2 at a
distance of 5 units from their point of intersection. Find the coordinates
of the foot of perpendiculars drawn from P;, P, on the bisector of the
angle between the given lines.

Thinking Process : Here, equation y— /3|z| = 2 represents two
different lines for x > 0 and = < 0 and they are bisector of Y -axis.
P, and P, are points at a distance 5 unit from point of intersection. The

y coordinate of the foot of perpendicular on Y-axis is 2 + 5 cos(30°).

° Watch Video Solution



https://dl.doubtnut.com/l/_DGooVNRVHktr
https://dl.doubtnut.com/l/_P021VuAaOxmi
https://dl.doubtnut.com/l/_SN9anKEFRlDL

9. If p is the length of perpendicular from the origin on the line

p
% + % =1 and a2,p2 and b? are in AP, then show that a* + b* = 0.

° Watch Video Solution

Solutions Of Ncert Exemplar Problems Objective Type Questions

1. A line cutting off intercept -3 from the Y-axis and the tangent at angle
3
to the X -axis is 5 its equation is,
Ady—3z15=0
B.3y — 5z +15=0
Ch5y—3z—15=0

D. None of these



https://dl.doubtnut.com/l/_SN9anKEFRlDL
https://dl.doubtnut.com/l/_qBLmr9wblOn4
https://dl.doubtnut.com/l/_aMrBuR1Wbba5

L T vvaldil vidcoO o01ution J

2.Slope of a line which cuts off intercepts of equal lengths on the axes is

B.0

C.2

D./3

Answer: A

° Watch Video Solution

3.The equation of the straight line passing through the point (3, 2) and

perpendicular to the liney = x is,

Az —y=>5

B.z +y=5


https://dl.doubtnut.com/l/_aMrBuR1Wbba5
https://dl.doubtnut.com/l/_KxPGXbwaY9sH
https://dl.doubtnut.com/l/_bNurq5257Csw

Cz+y=1

Dz —y=1

Answer: B

° Watch Video Solution

4. The equation of the line passing through the point (1,2) and
perpendicular to thelinex +y+1=20is

Ay—xz+1=0

By—x—-—1=0

Cy—z+2=0

Dy—z—-2=0

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_bNurq5257Csw
https://dl.doubtnut.com/l/_FsamNbjYOPui
https://dl.doubtnut.com/l/_VAzYd323vE7n

5. The tangent of angle between the lines whose intercepts on the axes

area, — b and b, — a, respectively, is
) b

a2 . b2
ab

b2 . a2
2

b2 — a2

A.

D. None of these

Answer: C

o Watch Video Solution

. T Y
6. If th line— + — =
e mea + b passes

(2, —3) and (4, — 5) then (a, b) is

A (1,1)

B.(—1,1)

through

the

points


https://dl.doubtnut.com/l/_VAzYd323vE7n
https://dl.doubtnut.com/l/_otPPhxwEOZ2c

D.(—1, — 1)

Answer: D

° Watch Video Solution

7. The distance of the point of intersection of the lines

2 — 3y + 5 =0 and 3z + 4y = O from thelinebx — 2y = 0Ois

130

A.
174/29
13

" 7,/29
130

7

D. None of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_otPPhxwEOZ2c
https://dl.doubtnut.com/l/_Fm6VJyECUTJX

8. The equations of the lines which pass through the point (3, — 2) and

are inclined at 60° to the line /3z + y = 1is

Ay+2=0y3z—-y—-2-3,/3=0
Bz —2=0,,3z —y+2+3,/3=0
CV3z—y—2-3,/3=0

D. None of these

Answer: D

o Watch Video Solution

9. The equations of the lines passing through the point (1, 0) and at a

3
distance % from the origin, are
AV3z+y—+/3=0,3z—y—+3=0
B.v/3Z +y++3=0,y3z —y+,3=0

Cz++43y—+/3=0,3y—+/3=0


https://dl.doubtnut.com/l/_8Bukniz7cgZV
https://dl.doubtnut.com/l/_T7Wee6qxzEOA

D. None of these

Answer: A

° Watch Video Solution

10. The distance between the lines y = mz + ¢; and y = mx + ¢y is

Cl — C

vm? +1

lc1 — o

V1+m?

c1 — ¢
V1 4+ m?

D.0

A.

B

C

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_T7Wee6qxzEOA
https://dl.doubtnut.com/l/_h1gqyBjEcZnp

11. The coordinates of the foot of perpendiculars from the point (2, 3) on

the liney = 3z + 4 is given by,

A (37 L
\10° 10

8. (_ L 3_7)
10’ 10
c (E, _m)
3
(3-3)
"\ 3’ 3
Answer: B

o Watch Video Solution

12. If the coordinates of the middle point of the portion of a line
intercepted between the coordinate axes is (3, 2), then the equation of
the line will be

A2z + 3y =12

B.3z + 2y = 12


https://dl.doubtnut.com/l/_xEABokEowyLj
https://dl.doubtnut.com/l/_tM6j3n2s0SaD

C.4x — 3y =12

D.5z — 2y = 10

Answer: A

° Watch Video Solution

13. Equation of the line passing through (1, 2) and parallel to the line
y=3x —1is

Ay+2=z+1

B.y+2=3(z+1)

Cy—2=3(x—1)

Dy—2=z-1

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_tM6j3n2s0SaD
https://dl.doubtnut.com/l/_fXSMtYBoQXVQ
https://dl.doubtnut.com/l/_cJ5r5ITxyQcO

14. Equations of diagonals of the square formed by the lines

r=0,y=0,z=1and y = 1lare

Ay=z,y+z=1

By=z,z+y=2

1
C.2y:x,y+x:§

Dy=2z,y+2x =1

Answer: A

o Watch Video Solution

15. For specifying a straight line, how many geometrical parameters

should be known ?

Al

B.2

Cc.4


https://dl.doubtnut.com/l/_cJ5r5ITxyQcO
https://dl.doubtnut.com/l/_MkeNhYON66p1

D.3

Answer: B

° Watch Video Solution

16. The point (4, 1) undergoes the following two successive
transformations :
(i) Reflection about the liney = x
(i) Translation through a distance 2 units along the positive X -axis
Then the final coordinates of the point are
A (4,3)
B.(3,4)

C.(1,4)
o(3)

Answer: B

| o Watch Video Solution


https://dl.doubtnut.com/l/_MkeNhYON66p1
https://dl.doubtnut.com/l/_D95AvHpt0q3Y

17. A point equidistant from the lines

4z 4+ 3y + 10 = 0, 5z — 12y + 26 = 0 and 7z + 24y — 50 = O'is,
A (1, — 1)
B.(1,1)
C.(0,0)

D. (0, 1)

Answer: C

° Watch Video Solution

18. A line passes through (2,2) and is perpendicular to the line

3z + y = 3.Its y-intercept is

>

w
Wl W=


https://dl.doubtnut.com/l/_D95AvHpt0q3Y
https://dl.doubtnut.com/l/_AycBGnsKJ8Cz
https://dl.doubtnut.com/l/_BM6nBp3AgZyP

Answer: D

° Watch Video Solution

19. The ratio in which the line 3z + 4y + 2 = 0 divides the distance

between the lines 3z + 4y + 5 =0 and 3x + 4y — 5 = 0is

A 1:2

B.3:7

C.2:3

D.2:5

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_BM6nBp3AgZyP
https://dl.doubtnut.com/l/_uOp7VvnSWe6G
https://dl.doubtnut.com/l/_dFmlvoPFLmvb

20. One vertex of the equilateral triangle with centroid at the origin and

onesideasz +y—2=20is

A(—1, —1)
B. (2, 2)
(-2, —2)
D.(2, — 2)

Answer: C

° Watch Video Solution

Solutions Of Ncert Exemplar Problems Fillers

1. If a,b and c are in AP then the straight lines ax + by + ¢ = 0 will

always pass through. ....... .

° Watch Video Solution



https://dl.doubtnut.com/l/_dFmlvoPFLmvb
https://dl.doubtnut.com/l/_qSdXfdryNLYE
https://dl.doubtnut.com/l/_5XFysM9z5w02

2.The line which cuts off equal intercept from the axes and pass through

the point (1, — 2) is e .

o Watch Video Solution

3. Equations of the lines through the point (3, 2) and making an angle of

45° with the linez — 2y + 3 = O are ...... .

o Watch Video Solution

4. The points (3,4) and (2, — 6) are situated on the ... of the line

3z —4y—-8=0.

o Watch Video Solution

5. A point moves so that square of its distance from the point(3, — 2) is

numerically equal to its distance from the line bx — 12y = 3. The


https://dl.doubtnut.com/l/_5XFysM9z5w02
https://dl.doubtnut.com/l/_EWsWdgQ9NyMK
https://dl.doubtnut.com/l/_eg9MRwxmfRVc
https://dl.doubtnut.com/l/_6HXW8YfgTcev

equation of its locus is ........ .

° Watch Video Solution

6. Locus of the mid-points of the portion of the line  sinf + ycos = p

intercepted between the axes is.....

° Watch Video Solution

7.1f the vertices of a triangle have integral coordinates, then the triangle

can not be equilateral.

° Watch Video Solution

8.The points A( — 2,1), B(0, 5), C( — 1, 2) are collinear.

° Watch Video Solution



https://dl.doubtnut.com/l/_6HXW8YfgTcev
https://dl.doubtnut.com/l/_K1fQaTaZrafJ
https://dl.doubtnut.com/l/_XQQq9W0JfkT4
https://dl.doubtnut.com/l/_2UQYQaiy1yVz

9. Equation of the line passing through the point (a cos® @, asin® 9) and
perpendicular to the line xsecl + ycosecd = a is

x cos @ — ysinf = cos 26.

° Watch Video Solution

10. The straight line bz + 4y = 0 passes through the point of
intersection of the straight lines x + 2y — 10 = 0 and 2x +y + 5 = 0.

True or False.

° Watch Video Solution

11. The vertex of an equilateral triangle is (2, 3) and the equation of the

opposite side is x4+ y = 2. Then the other two sides are

y—3=(2++3)(z —2).

° Watch Video Solution



https://dl.doubtnut.com/l/_6TjcZS7nRNk2
https://dl.doubtnut.com/l/_KmEgdCEP0bIH
https://dl.doubtnut.com/l/_ZZEBSRIFsyYO
https://dl.doubtnut.com/l/_bGPe2VT7tabP

12. The equation of the line joining the point {3, 5) to the point of
intersection of the lines 4 +y—1=0and 7x —3y—35=0 is

equidistant from the points (0, 0) and (8, 34).

° Watch Video Solution

1 1
13. The line < + Y_ 1 moves in such a way that — T 5 = , Where
a b b2 2’

c is a constant. The locus of the foot of the perpendicular from the origin

on the given line is 2% + y* = ¢

° Watch Video Solution

14. The lines ax +2y+1=0,bx +3y+1=0and cx +4y+1=0

are concurrent if a, b, c are in AP.

° Watch Video Solution



https://dl.doubtnut.com/l/_bGPe2VT7tabP
https://dl.doubtnut.com/l/_S8wRsE1vevh8
https://dl.doubtnut.com/l/_z4T23NLrx7q1

15. Line joining the points (3, — 4) and ( — 2, 6) is perpendicular to the

line joining the points ( — 3, 6) and (9, — 18).

° Watch Video Solution

Solutions Of Ncert Exemplar Problems Matching The Columns

1. Match Column - I and Column - II.

Column - 1

(i) The coordinates of the points P and Q on the linex + 5y = 13 which ar

(ii) The coordinates of the point on the linex + y = 4,which are at a unit d

(iii) The coordinates of the point on the line joining A (-2, 5) and B(3, 1) su

° View Text Solution

2. The value of the A, if the lines (2 + 3y +4) + A(6z —y + 14) =0

are


https://dl.doubtnut.com/l/_1EyNmdS0sun7
https://dl.doubtnut.com/l/_HvoWBMeNRY5I
https://dl.doubtnut.com/l/_11HRBwS1a2NN

Column- 1 Column - IT

(i) Parallel to Y -axis is (a)A = _TB

(ii) Perpendicular to7z +y — 4 = 0is (b)A = —

(iii) Passes through (1, 2) is (o)A _—17

(iv) parallel to X -axis is (DA = 3
o Watch Video Solution

3. The equation of the line through the intersection of the lines

2z — 3y = 0 and 42 — 5y = 2 and

Column - I Column - IT

(i) through the point (2, 1) is (a)(2z —y =4)
(ii) perpendicular to the linex + 2y + 1 = Ois (b)ar; +y—5=0
(iii) parallel to the line3z — 4y + 5 = Ois (o) —1=0
(iv) equally inclined to the axis is (d)3z — 4y —1=0

o Watch Video Solution

Question Of Module Knowledge Test

1. Find distance between the points A(3,4) and B( — 4, 3).

| ° Watch Video Solution


https://dl.doubtnut.com/l/_11HRBwS1a2NN
https://dl.doubtnut.com/l/_0OyrwgF3Q0RP
https://dl.doubtnut.com/l/_9km0Hc4FNSqy

2. Obtain co-ordinates of mid-point of AB joining A(1, 2), B(7, 8).

° Watch Video Solution

3. Find area of triangle with verticies

A(2,3), B(—1,4) and O( -2, —1).

° Watch Video Solution

4.Find slope of AB joining points A(4, 5), B( — 3, 4).

° Watch Video Solution

5. If line makes an angle of 45° with the positive side of X -axis then write

its slope.

° Watch Video Solution



https://dl.doubtnut.com/l/_9km0Hc4FNSqy
https://dl.doubtnut.com/l/_QAQv2NEJvTa3
https://dl.doubtnut.com/l/_TfWIUz9LPbzM
https://dl.doubtnut.com/l/_IYWc9ekfA0o7
https://dl.doubtnut.com/l/_S9qpaZ4BG9If

6. If line makes an angle 45° with X -axis then write its slopes.

° Watch Video Solution

7. Find measure  of  an angle  between the lines

x+y=3and 2z + b5y — 7= 0.

° Watch Video Solution

8. Find measure of an  angle between the lines

x=3and 2z —y—5=10

° Watch Video Solution

9.Y intercept of line 24z — 10 = O is .uueeeee

° Watch Video Solution



https://dl.doubtnut.com/l/_S9qpaZ4BG9If
https://dl.doubtnut.com/l/_JQ0VGLpccqg2
https://dl.doubtnut.com/l/_kF9F9eG27vOw
https://dl.doubtnut.com/l/_6dbwSsMPtaht
https://dl.doubtnut.com/l/_bts0jaLu3Pkv

10......... is equation of line with slope — /3 and X- intercept 5.

o Watch Video Solution

1.Y -intercept of liney = O is ...

o Watch Video Solution

12.Find a ifline (@ + 1)z + (a® + a — 2)y + a = Ois parallel to Y-axis.

o Watch Video Solution

13. Find k if lines 5z — ky — 7 = 0 and 2z + 3y + 5 = 0 are mutually

perpendicular.

o Watch Video Solution



https://dl.doubtnut.com/l/_bts0jaLu3Pkv
https://dl.doubtnut.com/l/_uDNDmpUc9N1c
https://dl.doubtnut.com/l/_zAY5zYbkyOat
https://dl.doubtnut.com/l/_mVsblbu5WCIM
https://dl.doubtnut.com/l/_gAACBm5h79NL
https://dl.doubtnut.com/l/_rg4nF6fGu7h4

14. Find equation of line passes from points (5, 6) and ( — 3, 6).

° Watch Video Solution

15. Find P and a«a by converting equation x+4+y=1 in

xcosa + ysina = P form.

° Watch Video Solution

16. Find perpendicular distance from point (2,3) to the line

3z +4y —5=0.

° Watch Video Solution

17. Find perpendicular distance between the lines

3r —4y+7=0and 6 —8y+ 1= 0.

° Watch Video Solution



https://dl.doubtnut.com/l/_rg4nF6fGu7h4
https://dl.doubtnut.com/l/_9gO7H9Z1SrPi
https://dl.doubtnut.com/l/_AvhZpDH8Vqq6
https://dl.doubtnut.com/l/_3X3YUYC87UqE

18. Find k if the perpendicular distance between lines

5z + 12y = 1 and 5z + 12y + k = Ois 25 unit.

° Watch Video Solution



https://dl.doubtnut.com/l/_nylzNBtF3QlS

